
b

xx=µx= a x=b

(µ, f (µ))
axe de symétrie

p(a 6 X 6 b) = p(a < X < b)

= p(X 6 b)− p(X 6 a)

= 1
︸︷︷︸

aire totale

−

︸︷︷︸

sauf

p(X 6 a) − p(X > b)

xx=µx=µ−a x=µ+a

a a

surfaces
égales

p(µ − a 6 X 6 µ + a) = p(X 6 µ + a)− p(X 6 µ − a)

= 1 − 2p(X 6 µ − a)

= 1 − 2p(X > µ + a)

Propriétés de la

loi normale

N (µ, σ2)

O x

y

x=µ x= a

0,5

p(X 6 a) = p(X < a)

= 0,5 + p(µ 6 X 6 a)

= 1 − p(X > a)

= 1 − p(X > a)

p(X > a) = 0, 5 − p(µ 6 X 6 a)

= p(X > a)

xx=µx= a

0,5

p(X 6 a) = p(X < a)

= 0, 5 − p(a 6 X 6 µ)

= 0, 5 − p(X > a)

p(X > a) = p(a 6 X 6 µ) + 0,5

= 1 − p(X 6 a)
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